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My partner and I stand in firm (affirmation or negation) of the resolution: (state resolution). Tell what the resolution means.
	We will begin with some definitions. First, we define (add 2-4 words and definitions). 
[bookmark: _GoBack]	We suggest a weighing mechanism for this debate. Our weighing mechanism is a (share mechanism). This is the best weighing mechanism for this debate because (explain). 
	Our first contention is (state contention tagline). Subpoint A (share evidence) Subpoint B (share evidence.
	Our second contention is (state contention tagline). Subpoint A (share evidence) Subpoint B (share evidence.
	Our third contention is (state contention tagline). Subpoint A (share evidence) Subpoint B (share evidence.
	It is for these reasons and more that we stand in (affirmation or negation) of the resolution. 
